Chapter 6 Inventory and Cost of Goods Sold

Chapter 6

Inventory and Cost of Goods Sold

REVIEW QUESTIONS

Question6-1 (LO 6-1)

Inventoryincludes items a company intends for sale to customers. Inventory also includes items th
are not yet finished products. The cost of inventory that has notsb&bny the end of the reporting
periodis reported in the balance sheet as an asset. The cost of inventory that has been sold during
reportingperiod is reported as an expense (cost of goods sold) in the income statement.

Question6-2 (LO 6-1)
Servie companiesgeneraterevenues by providing services to their customiftanufacturing or
merchandisingompaniegenerateevenues by selling inventory rather than a service.

Question6-3 (LO 6-1)

Raw materialsinventory includes the cost of componentsttidll become part of the finished

product but have not yet been used in productidork -in-processinventory refers to the products

that have started the production process but are not yet complete at the end of the period. The cos
work in process wentory includes the cost of raw materials used in production, the cost of direct
labor that we can trace directly to the goods in process, and an allocated portion of other
manufacturing costs, called overhebohished goods inventoryis the cost of fulf assembled but
unshipped inventory at the end of the reporting period.

Question6-4 (LO 6-2)

The cost of goods (or inventory) available for satpials he cost of beginning inventory plus
additional purchaseduring the reporting periodBy subtracting ie cost of ending inventory at the
end of thereportingperiod from the cost of goods available for sale, we calculate cost of goods solc
during thereportingperiod.

Question6-5 (LO 6-2)

The balance ofast of goods solth the income statemergpresert the cost of inventory sold

during the period. For a company liBest Buy this would include inventorgoldsuch as phones,

CD players, portable radios, cameras, camcorders, DVD players, computers, and other electronic
devices and accessorid$ie balace of inventory in the balance sheet represents the cost of
inventory not sold by the end of the reporting period.

Question6-6 (LO 6-2)

A multiple-step income statement reports multiple levels of profitab{Btpss profit equals net
sales minus cost gfoods soldOperating incomeequals gross profit minus operating expenses.
Income before income taxegquals operating income plus Roperating revenues and minus non
operating expensellet incomeequals all revenues minus all expenses.
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Chapter 6 Inventory and Cost of Goods Sold

Answers to RevieWuestions (continued)

Question6-7 (LO 6-3)

Because of the large number of inventory transactions for most companies and the high volatility in
many inventory costs, it is not possible or cost effective to identify the cost of each item sold.
Therefore, asumptions are made as to which units of inventory are sold.

Question6-8 (LO 6-3)

The three most common inventory cost flow assumptions are FIFGittfifatst-out), LIFO (lastin,
first-out), andweightedaverage cost. These methods provide assumpésn® which inventory

units are sold, whereas the specific identification method matches or identifies each unit of inventory
with its actual cost.

Question6-9 (LO 6-4)

FIFO results in the highest reported amount for ending inventory when inventoramestsng.

The reason is that under the FIFO method, the oldest (or first) items are sold first and these are the
lower-cost items, leaving the higheost items to be reported in ending inventory.

Question6-10 (LO 6-4)

FIFO results in the highestpotedamount of net income when inventory costs are rislig

reason is that under the FIFO method, the oldest (or first) items are sold first and these are-the lower
cost items. Reporting cost of goods sold based on the-lmygeitems results in net iome being

higher.

Question6-11 (LO 6-4)

Since FIFO assumes the first purchases sell firatamountt repors for ending inventory (in the
balance shegtthe last or most recent purchadester approximates the current cost of inventory.
LIFO assumes the last purchases are sold first, reporting the most recent inventory cost in cost of
goods soldin theincome statementThus, LIFO more realisticallpnatches the current costb
inventoryneeded to produce current revenues.

Question6-12 (LO 6-4)

LIFO generally results in lower income taxes payable when inventory costs are incheasinge
net income in this case is lower (than if FIFO were usdw) LIFO conformity rulegequires a
company that uses LIFO for tax reporting to also use LIFO fanfimlreporting.

Question6-13 (LO 6-5)

The perpetual inventory system maintains a continwalperpetuali record of inventory purchased
and sold, while the periodic systgmariodically adjusts for purchases and sales of inventory at the
end of the reprting period.

Question6-14 (LO 6-5)
Freight charges add to the cost of inventory, while purchase discounts and purchase returns reduce
the cost of inventory
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Chapter 6 Inventory and Cost of Goods Sold

Answers taReviewQuestions (continued)

Question6-15 (LO 6-6)

Cost of inventory is the net cast purchases and freight, less purchase discprettensand
allowances. Nt realizableralueis normallyselling price less cost of completion, disposakl
transportatiorcosts. Whennet realizablevalue falls below costye adjust inventory down ém cost
to net realizablevalue. (For LIFO, we report inventory at lower of cost or replacement value.)

Question6-16 (LO 6-6)

The cost of inventory is determined using specific identification, FIFO, LIF@ieayhtedaverage
cost. Net realizablevalue isdetermined usingelling price less cost of completion, disposadd
transportatiorcosts

Question6-17 (LO 6-6)
The entry to adjust from cost teet realizable valuéor inventory writedownsincludes a debit to
cost of goods soldincrease to expengesand a credit to inventorgydecrease to assets)hhe
adjustnenthas the following effects:

(a) assetginventory)= decrease

(b) liabilities= no effect

(c) stockhol der s6é e=xdecieasg (or retained earn

(d) revenues no effect

(e) expensefcostof goods sold¥ increase

(f) net income= decrease

Question6-18 (LO 6-6)

Firms arerequired to report the falling value of inventory but not allowed to report the increasing
value of inventory Conservative accounting implies that there is more potemiian to users of
financial statements if estimatgainsturn out to be wrong than if estimatexssesturn out to be
wrong. Therefore, companies typically do not report estimated gains.

Question6-19 (LO 6-7)

The inventory turnover ratio equals cosgobds sold divided by average inventdrje ratio shows

the number of times the firm sells its average inventory balance during a reporting Pleeioclore
frequently a business is able to sell or #dtu
company needs to invest in inventory for a given level of s@ilgsically, a higher ratio indicates
greater effectiveness of a company in managing its investment in inventory.
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Chapter 6 Inventory and Cost of Goods Sold

Answers taReviewQuestions (continued)

Question6-20 (LO 6-7)

Gross profit equa net sales minus cost of goods sdltie gross profit ratio equalgross profit
divided bynetsales.The gross profit ratio measures the amount by which the sale price of inventory
exceeds its cost per dollar of sales. The higher the ratio, the hegghetih e fAmar kupo a
able to achieve on its inventories.

Question6-21 (LO 6-8)

Under the periodic system, the sale of inventory is recordeddogasng anasset accountésh or
accounts receivable) and increggssales revenudJnder the perpeal system, two transactions are
recorded. The first entry is the same as that under the periodic system. The second entry involves
recording the cost of goods sold and decreasing inventory.

Question6-22 (LO 6-8)
The purposes of the periahd adjushentare to(1) updatethe balance of inventoryf its ending
amount, (2yecordcost of goods sold, and (8lpose thedemporarypurchasesccounts to zero.

Question6-23 (LO 6-9)
Understating ending inventory in the current year will have the following sfiieche current year:
(a) assetginventory) = understated
(b) liabilities= no effect
(c) stockholder@equity (or retained earnings)understated
(d) revenues no effect
(e) expenses (cost of goods sold) = overstated
(f) net income = understated

Quesion 6-24 (LO 6-9)
Understating ending inventory in the curreetar will have the following effects in the following
year:

(a) assetginventory) = no effect

(b) liabilities= no effect

(c) stockholder@equity (or retained earnings)no effect

(d) revenes= no effect

(e) expenses (cost of goods sold) = understated

(f) net income = overstated
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Chapter 6 Inventory and Cost of Goods Sold

BRIEF EXERCISES

Brief Exercise6-1 (Lo 6-1)

1. b.
2. a.
3. C.

Brief Exercise 6-2 (Lo 6-1)

1. c.
2. a.
3. b.

Brief Exercise 6-3 (Lo 6-2)

Beginning inventoy $ 8,000
+ Purchases 23,000
Cost of goods available for sale 31,000
T Ending inventory 10,000
Cost of goods sold $21,000
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Chapter 6 Inventory and Cost of Goods Sold

Brief Exercise 64 (Lo 6-2)

Sales Cost of

Gross Operating

Net

Company revenue goods solc profit* expenses income
Lennon $18,000 (a) $10,000 $ 8,000 $3500 $4500
Harrison 20,000 11,000 (b) 9,000 6,000 3,000
McCartney 13,000 9,000 4,000 (c) 2500 1,500
Starr 16,000 6,000 10,000 6,500 (d) 3,500
aGross profit =Salesevenud Cost of goods sol d
bNetincome=Gr oss profit T Operating expenses
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Chapter 6 Inventory and Cost of Goods Sold

Brief Exercise 65 (Lo 6-3)
Number  Unit Ending

Date Transaction of units  cost Inventory
Nov. 3 Purchase 40 $90 $3,600

Numbel  Unit Cost of
Date Transaction of units cost  Goods Solc
Jan.1 Beginning inventory 60 $82 $ 4,920
May 5 Purchase 250 85 21,250
Nov. 3 Purchase 160 90 14,400
47 $40,570

a2 First470unitspurchased arassumed sold

Brief Exercise 6-6 (Lo 6-3)
Numbel  Unit Ending

Date Transaction of units  cost Inventory
Jan.1 Beginning inventory 40 $82 $3,280

Number  Unit Cost of
Date Transaction of units cost  Goods Solc
Jan.1 Beginning inventory 20 $82 $ 1640
May 5 Purchase 250 85 21,250
Nov. 3 Purchase 200 90 18,000
470 $40,890

aLast470unitspurchased arassumed sold
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Chapter 6 Inventory and Cost of Goods Sold

Brief Exercise 6-7 (Lo 6-3)

Numbel  Unit Total

Date Transction of units cost Cost
Jan.1 Beginning inventory 60 $82 $ 4,920
May 5 Purchase 250 85 21,250
Nov. 3 Purchase 200 90 18,000
510 $44,170

Weightedaveragecost =$44,170/ 510units= $36.6078/ unit
Ending inventory =40 x $86.6078= $3,464.31
Cost of goods sold 470x $86.6078= $40,705.69(rounded)

Brief Exercise 6-8 (Lo 6-3)
Numbel  Unit Ending

Date Transaction of units  cost Inventory
May 5 Purchase 20 $85 $1,700
Nov. 3 Purchase 20 90 1,800

40 $3,500
Numbel  Unit Cost of

Date Transaction of units cost Goods Solc
Jan.1 Beginning inventory 60 $82 $ 4,920
May 5 Purchase 230 85 19,550
Nov. 3 Purchase 180 90 16,200

470 $40,670

Brief Exercise 6-9 (Lo 64)

Inventory Higher Higher Higher
Costs total assets cost of goods solc net income
Rising FIFO LIFO FIFO
Declining LIFO FIFO LIFO
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Chapter 6 Inventory and Cost of Goods Sold

Brief Exercise 6-10 (Lo 6-5)

February 2 Debit Credit
Inventory 40,000
Accounts Payable 40,000

(Purchase inventy on account

March 17 Debit Credit

Accounts Receivable 60,000
SalesRevenue 60,000
(Sell inventoryon accouni

Cost of Goods Sold 40,000
Inventory 40,000

(Cost of inventory sold

Brief Exercise 611 (o 6+5)

February 2 Debit  Credit
Inventory 40,000
Accounts Payable 40,000

(Purchase inventory on accoynt

February 2 Debit Credit
Inventory 600
Cash 600
(Pay freight charges
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Chapter 6 Inventory and Cost of Goods Sold

Brief Exercise 612 (Lo 65)

February 2 Debit Credit
Inventory 60,000
Accounts Payable 60,000

(Purchase inventory on accouynt

February5 Debit Credit
Accounts Payable 4,000
Inventory 4,000

(Return inventory purchased on account
($4,000 =100 unitsx $40 unit cos}

Brief Exercise 613 (Lo 65)

February 2 Debit Credit
Inventory 40,000
Accounts Payable 40,000

(Purchase inventory on accoynt

Februaryl0 Debit  Credit

Accounts Payable 40,000
Inventory 1,200
Cash 38,800

(Pay on account witB% discouny
($1,200 = $40,000% 3%)
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Chapter 6 Inventory and Cost of Goods Sold

Brief Exercise 6-14 (Lo 6-6)
Lower of Cost
and NRV Ending

Inventory Quantity per unit Inventory

Ski jackets 20 $ 95 $1900

Skis 25 300 7,500
$9,400

Brief Exercise 615 (Lo 66)
Lower of Cost
and NRV Ending

Inventory Quantity per unit Inventory

Optimacamera 110 $45 $4,950

Inspirespealers 50 45 2,250
$7,200
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Chapter 6 Inventory and Cost of Goods Sold

Brief Exercise 616 (Lo 67)

Inventory _ Cost of goods sold _ $180,000
turnover ratio ~ Average inventory ~ ($55,000 + $45,000) / 2
= 3.6 times
Average days _ 365 _ 365
In inventory Inventory turnover ratio 3.6
= 101.4 days
Gross profit  _ Gross profit _ ($250 , 0 0 (B0O,000)
ratio B Net sales - $250,000
= 28%

Brief Exercise 617 (Lo 6-8)

February 2 Debit  Credit
Purchases 40,000
Accounts Payable 40,000

(Purchase inventory on accouynt

March 17 Debit Credit
Accounts Receivable 60,000
SalesRevenue 60,000

(Sell inventoryon account

No entry for cost of goods sold
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Chapter 6 Inventory and Cost of Goods Sold

Brief Exercise 618 (Lo 6-8)

February 2 Debit Credit
Purchases 40,000
Accounts Payable 40,000

(Purchase inventory on accougnt

February 2 Debit Credit
Freight-In 600
Cash 600
(Pay freight charges

Brief Exercise 619 (Lo 6-g)

February 2 Debit Credit
Purchases 60,000
Accounts Payable 60,000

(Purchase inventory on accoynt

February5 Debit  Credit
Accounts Payable 4,000
Purchase Returns 4,000

(Return inventory purchased on account
($4,000 = 100units x $40 unit cos}
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Chapter 6 Inventory and Cost of Goods Sold

Brief Exercise 620 (Lo 6-8)

February 2 Debit Credit
Purchase 40,000
Accounts Payable 40,000

(Purchase inventory on accouynt

FebruarylQ Debit Credit

Accounts Payalte 40,000
Purchase Discounts 1,200
Cash 38,800

(Pay on account witB% discoun}
($1,200 = $40,000x 3%)

Brief Exercise 621 (Lo 69)
Overstating ending inventory by 5000 has the following effects:

Current year
Cost of goods sold understagd by $5,000,

Gross profitis overstated by 3,000,

Following year
Cost of goods solis ovestated by $4,000
Gross profitis undestated by $%,000
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Chapter 6 Inventory and Cost of Goods Sold

Brief Exercise 622 (Lo 69)
Overstating ending inventory by 000 has the following effects:

Curent year
Inventory is ovestated by $3,000

Retained earnings ®verstated by $,000

Following year
Inventory is not affected
Retained earnings st affected
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Chapter 6 Inventory and Cost of Goods Sold

EXERCISES

Exercise6-1 (Lo 62)

Beginning inventory $ 55,000

Add: Purchases 910,000
Cost of goods available for sale 965,000
Less: Ending inventory (45,000)
Cost of goods sold $920,000
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Chapter 6 Inventory and Cost of Goods Sold

Exercise 62 (Lo 62)

Wayman Corporation
Multiple -step Income Statement
For the year ended December 32021

Sales revenue $390,000
Costof goods sold 130,000
Gross profit $260,000
Salariesexpense 40,000
Utilities expense 50,000
Advertisingexpense 30,000
Total operating expenses 120,000
Operating income 140,000
Interest expense 20,000
Income before income taxes 120,000
Income tax expense 50,000
Net income $ 70,000
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Chapter 6 Inventory and Cost of Goods Sold

Exercise 63 (Lo 62)

Requirement 1

Tisdale Incorporated
Multiple -step Income Statement
For the year ended December 32021

Net sales $300,000
Cost of goods sold 190,000
Gross profit $110,000
Sellingexpenses 60,000
Generakxpenses 50,000
Administrativeexpenses 40,000
Total operating expenses 150,000
Operating income (loss) (40,000)
Nonoperating revenue 110,000
Income before income taxes 70,000
Income tax egense 30,000
Net income $ 40,000

Requirement 2

While Tisdale Incorporated is able to report positive net inc(®#6,000) the

company does not appear to have much pgeiterating potential. For its core

operations, the company reports aan¢égi ve operating I ncome ofr
means that normal operations are not profitable. These are the operations that continue
into the next year. Investors should not count on nonoperating revenue ($110,000) to
recur.
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Chapter 6 Inventory and Cost of Goods Sold

Exercise 64
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Chapter 6 Inventory and Cost of Goods Sold

(LO 6-3)
Requirement 1LFIFO
(a)
Numbel  Unit Ending
Date Transaction of units  cost Inventory
Oct 6 Purchase 80 $58 $4,640
(b)
Numbel  Unit Cost of
Date Transaction of units cost Goods Solc
Jan.1 Beginning inventory 60 $52 $ 3,120
Apr.7 Purchase 140 54 7,560
Jul. 16 Purchase 210 57 11,970
Oct. 6 Purchase 40 58 2,320
450? $24,970
2 First450 unitspurchased arassumed sold
(c) Sales revenue= 450 unitsx $70 =$31,500
(d)Grossproft= Sal es revenue 1 Cost
=$31,5001 24,970=$6,530

of

goods
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Chapter 6 Inventory and Cost of Goods Sold

Exercise 64 (continued)
Requirement 2 LIFO

(a)
Numbel  Unit Ending
Date Transaction of units  cost Inventory
Jan.1 Beginning Inventory 60 $52 $3,120
Apr.7 Purchase 20 54 1,080
80 $4,200
(b)
Numbel  Unit Cost of
Date Transaction of units cost Goods Solc
Apr. 7  Purchase 120 $54 $ 6,48
Jul. 16 Purchase 210 57 11,90
Oct. 6 Purchase 120 58 6,960
4407 $25,410
2L ast440 unitspurchased arassumed sold
(c) Sales revenue= 450 unitsx $70 =$31,500
(d)Grossproft= Sal es revenue 1 Cost

=$3150 0 2b,416= $6,090

of

good s
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Chapter 6 Inventory and Cost of Goods Sold

Exercise 64 (concluded
Requirement 3 Weighted average

Numbel  Unit Total

Date Transaction of units cost cost
Jan.1 Beginning Inventory 60 $52 $ 3,120
Apr.7 Purchase 140 54 7,560
Jul. 16 Purchase 210 57 11,970
Oct. 6 Purchase 120 58 6,960
530 $29,610

Weightedaveragecost = £9,610/ 530 units =$55.8679
(a) Ending inventory = 80 unitsx $55.8679= $4,469
(b) Cost of goods sold= 450 unitsx $55.8679= $25,141
(c) Sales revenues 450 unitsx $70 =$31,500

(d)Gross profit= Sal es revenue 1T Cost of goods sol
=$3150 0 25,14%= $6,359

Requirement 4

FIFO LIFO Weighted-
average
Grossprofit $6,530 $6,090 $6,359

FIFO results in higher profitabilitywheninventory costare rising.
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Chapter 6 Inventory and Cost of Goods Sold

Exercise 65 (Lo 63)
Requirement 1FIFO

(a)
Numbel  Unit Ending
Date Transaction of units  cost Inventory
Nov. 11 Purchase 24 $18 $432
(b)
Numbel  Unit Cost of
Date Transaction ofunits cost  Goods Solc
Jan.1 Beginning inventory 20 $22 $ 440
Mar. 4 Purchase 25 21 525
Jun.9  Purchase 30 20 600
Nov. 11 Purchase 6 18 108
812 $1,673
2 First81 unitspurchased arassumed sold
(c) Sales revenues 81 unitsx $30 =$2,430
(d)Gross profit= Sal es revenue 1 Cost

=$2,430 1,678=9%757

of

good s
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Chapter 6 Inventory and Cost of Goods Sold

Exercise 65 (continued)
Requirement 2 LIFO

(a)
Numbel  Unit Ending
Date Transaction of units  cost Inventory
Jan.1 Beginning Inventory 20 $22 $440
Mar. 4 Purchase 4 21 84
24 $524
(b)
Numbel  Unit Cost of
Date Transaction of units cost  Goods Solc
Mar. 4 Purchase 21 $21 $ 441
Jun. 9 Purchase 30 20 600
Nov. 11 Purchase 30 18 540
81* $1,581

* Last 81 unitspurchased arassumed sold

(c) Sales revenues 81 unitsx $30 =$2,430

(d)Grossprofit= Sal es revenue 1 Cost

=$,430 1,58%=$849

of

goods
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Chapter 6 Inventory and Cost of Goods Sold

Exercise 65 (concluded
Requirement 3 Weighted average

Numbel  Unit Total

Date Transaction of units cost Cost
Jan.1 Beginning Inventory 20 $22 $ 440
Mar. 4 Purchase 25 21 525
Jun.9 Purchase 30 20 600
Nov. 11 Purchase 30 18 540
105 $2,105

Weightedaveragecost = 8,105/ 105units = $£0.04762
(a) Ending inventory = 24 units x $20.04762= $481.14
(b) Cost of goods sold 81 unitsx $20.04762= $1,623.86
(c) Salesrevenue= 81 units x $30 =$2,430

(d)Gross profit= Sal es revenue 1T Cost of goods
=$,430 1,628.86= $806.14

Requirement 4

FIFO LIFO Weighted-
average
Grossprofit $757 $849 $806.14

LIFO results in higher profitabilitywheninventory costsaredeclining
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Chapter 6 Inventory and Cost of Goods Sold

Exercise6-6 (Lo 65)

Debit Credit
Inventory 310,000
Accounts Payable 310,000
(Purchase inventory on accouynt
Debit Credit
Accounts Receivable 520,000
SalesRevenue 520,000
(Sell inventoryon accouni
Cost of Goods Sold 335,000
Inventory 335,000

(Cost of inventory 4d)
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Chapter 6 Inventory and Cost of Goods Sold

Exercise 67 (Lo 65)

June 5 Debit Credit
Inventory 4,000
Accounts Payable 4,000

(Purchase inventory on accougnt

June 9 Debit Credit

Accounts Payable 800
Inventory 800
(Return inventory purchased on account
($800 =40 units x $0 uni cos)

June 16 Debit Credit
Accounts Receivable 5,600
SalesRevenue 5,600

(Sell inventoryon accouni
($5,600 = 160 units x 85 unit price)

Cost of Goods Sold 3,200
Inventory 3,200
(Record ost of inventory sold
($3,200 = 160 units x $0 unit cos)
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Chapter 6 Inventory and Cost of Goods Sold

Exercise6-8 (Lo 65)

Requirement 1

June 5 Debit Credit

Inventory 3,800
Accounts Payable 3,800
(Purchase inventory on accouynt

June 12 Debit  Credit

AccountsPayable 3,800
Inventory 76
Cash 3,724

(Pay onaccountwith 2% discout)
($76=$3,800 x 2%)

Requirement 2

June22 Debit Credit
Accounts Payable 3,800
Cash 3,800

(Pay onaccounj
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Chapter 6 Inventory and Cost of Goods Sold

Exercise6-9 (Lo 65)
Requirement 1

May 2 Debit Credit

Inventory 3,300
Accounts Payable 3,300
(Purchase inventory on accougnt

May 3

Inventory 200
Cash 200
(Pay freightin cos)

May 5

Accounts Payable 400
Inventory 400
(Return inventory on account

May 10

Accounts Payable 2,900
Inventory 29
Cash 2,871

(Pay on accountvith 1% discoun}
($29=$2,900 x 1%)

May 30

Accounts Receivable 4,000
SalesRevenue 4000
(Sell inventoryon account

Cost of Goods Sold 3,071
Inventory 3,0712

(Record ost of inventory sold
2$3,300 (purchase) +200 (freighti n )4010 $ r e 29¢disaoynt) T $

Requirement 2

May 24 Debit  Credit
Accounts Payable 2,900
Cash 2,900
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Chapter 6 Inventory and Cost of Goods Sold

(Pay cash on account
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Chapter 6 Inventory and Cost of Goods Sold

Exercise 610 Lo 65)

July 5 Debit Credit

Inventory 100,000
Accounts Payable 100,000
(Purchase inventory on accougnt

July 8

Accounts Payable 5,000
Inventory 5,000
(Return inventory on account

July 13

Accounts Payable 95,000
Inventory 2,850
Cash 92,150

(Pay on account witB% discoun}
($2,850= $95,000% 3%)

July 28

Accounts Receivable 114,000
Sales Revenue 114000
(Sellinventoryon account

Cost of Goods Sold 92,150
Inventory 92,1507

(Record ost of inventory sold

3$10000 0 ( pur B00Ds € r e, 8bB(disgourt) $
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Chapter 6 Inventory and Cost of Goods Sold

Exercise 611 (Lo 65)

August 6 Debit  Credit

Inventory 14,000
Accounts Payable 14,000
(Purchase inventory on accoynt

August 7

Inventory 400
Cash 400
(Pay freightin cos)

August 10

Accounts Payable 1,200
Inventory 1,200
(Return inventory on account

August 14

Accounts Payable 12,800
Inventory 128
Cash 12,672
(Pay cash on account witt® discouny
($128= $12,800 x 1%)

August 23

Accounts Receivable 11,000
SalesRevenue 11,000
(Sell inventory on accouit

Cost of Goods Sold 10,212.50
Inventory 10,212.50
(Record ost of inventoy sold
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Chapter 6 Inventory and Cost of Goods Sold

Exercise 612 (Lo 65)
August 6

Accounts Receivable 14,000
SalesRevenue 14,000
(Sell inventory on accout

Cost of Goods Sold 12,600
Inventory 12,600
(Record ost of inventory sold

August 10

Sales Returns 1,200
Accounts Receivable 1,200
(Receive return on accoynt

August 14

Cash 12672

Sales Discourd 128
Accounts Receivable 12,800

(Receivecash on account with% discouny
($128= $12,800x 1%)
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Chapter 6 Inventory and Cost of Goods Sold

Exercise 613 (Lo 6+6)

Requirement 1

Total
Unit Recorded
Inventory Quantity Cost Cost
Furniture 200 $ 85 $17,000
Electronics 50 400 20,000
$37,000

Requirement 2
Lower of Cost
and NRV Ending

Inventory Quantity per unit Inventory

Furniture 200 $ 85 $17,000

Electronics 50 300 15,000

$32,000

Requirement3
Debit Credit
Cost of Goods Sold 5,000

Inventory 5,000

(Adjust inventory down toet realizable value
(50 units of electronics $100)

Requirement4

The writedown of inventory has the effect of reducing total assets (inventory),
increasiigy expenses (cost of goods sold), decreas@tgncome, and decreasing
retained earnings.
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Chapter 6 Inventory and Cost of Goods Sold

Exercise 614 (Lo 6+6)

Requirement 1

Total
Unit Recorded
Inventory Quantity Cost Cost
Shirts 35 $ 60 $ 2,100
MegaDriver 15 360 5,400
MegaDriver I 30 350 10,500
$18,000

Requirement2
Lower of Cost
and NRV Ending

Inventory Quantity per unit Inventory
Shirts 35 $ 60 $ 2,100
MegaDriver 15 250 3,750
MegaDriver I 30 350 10,500
$16,350
Requirement 3
Debit Credit
Cost of Goods Sold 1,650
Inventory 1,650

(Adjust inventory down toet realizable value
(15 units of MegaDrivex $110)

Requirement4

The writedown of inventory has the effect of reducing total assets (inventory),
increasing expenses (cost of goods sold), decreasirigcome, and degasing
retained earnings.
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Chapter 6 Inventory and Cost of Goods Sold

Exercise 615 o 62, 67)

Requirement 1

Lewis Clark
Beginning inventory $ 24,000 $ 50,000
Add: Purchases 261,000 235000
Less: Purchase returns (15,000) (60,000)
Cost of goods available for sale 270,000 225,000
Less: Ending inventory (18,000) (60,000)
Cost of goods sold $252,000 $165,000
Requirement 2
Lewis Clark
Inventory
turnover = Cost of goods solc $252000 $165,000
ratio Average inventory ($24,000 + $48,000) /2 ($50,000 + $0,000) /=
= 12.0times 3.0 times
Requirement 3
Lewis Clark
Ad"erage B 365 365 365
daysin = Inventory turnover 12.0 3.0
inventory ratio
= 30.4days 121.7 days

Requirement 4

Lewis seems to be managing its inventory more efficiently. For Lewis, inventois/ tu
over 12 times per year. In other words, inventoelisevery .4 days. For Clark, its
inventory turns over onlthree times per year overy 121.7days.
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Chapter 6 Inventory and Cost of Goods Sold

Exercise 616 (Lo 62, 67)

Requirement 1

Gross Operating IncomeBefore Net

Profit? Incomée IncomeTaxe$ Incomé
Henry $27,200 $22,200 $20,200 $18,200
Grace 10,500 (2,600) (9,600) (9,600)
James 15,200 12,200 12,200 9,200

2 Gross profit =Sales revenue Cost of goods sold

b Operating income 6r o0 s s  Ppemting éxpenses

°Income before income taxeOp e r at i n gNomopecatngexpenses
dNetincomesnc ome bef or elIncometaxraxpensea x e s 1

Requirement 2

Henry Grace James
Gross
profit = Gross profit $27,200 $10,500 $15,200
ratio Net sales $32,000 $35,000 $40,000
= 0.85 0.3 0.38

Henry has the most favorable gross profit ratio.
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Chapter 6 Inventory and Cost of Goods Sold

Exercise 617 (Lo 69)
Requirement 1

May 2 Debit Credit

Purchases 3,300
Accounts Payabé 3,300
(Purchase inventory on accouynt

May 3

Freight-In 200
Cash 200
(Pay freightin cos)

May 5

Accounts Payable 400
Purchase Returns 400
(Return inventory on accoynt

May 10

Accounts Payable 2,900
Purchase Discounts 29
Cash 2,871

(Pay cash on account witt® discouny
(Purchase discount = $200 x 1%)
May 30

Accounts Receivable 4,000
Sales Revenue 4.000
(Sell inventory on accout

Requirement 2

May 31 Debit  Credit
Cost of Goods Sold 3,071
Purchase Returns 400
Purchase Discounts 29
Purchases 3,300
Freight-In 200

(Record periogend adjustmeit

Note: Beginning and ending inventory
amounts are zero; no entry required
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Chapter 6 Inventory and Cost of Goods Sold

Exercise 618 Lo 69
Requirement 1

July 5 Debit Credit

Purchases 100,000
Accounts Payable 100,000
(Purchase inventory on accougnt

July 8

Accounts Payable 5,000
Purchase Returns 5,000
(Return inventory on account

July 13

Accounts Payable 95,000
Purchase Discounts 2,850
Cash 92,150

(Pay cash on account wii% discount
($2,850 = $95,000% 3%)
July 28

Accounts Receivable 114,000
SalesRevenue 114,000
(Sell inventory on accouit

Requirement 2

July 31 Debit Credit
Cost of Goods Sold 92,150
Purchase Returns 5,000
Purchase Discounts 2,850
Purchases 100,000

(Record perioeend adjustment

Note: Beginning and ending inventory
amounts are zero; no entry required
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Chapter 6 Inventory and Cost of Goods Sold

Exercise 619 (Lo 69

August 6 Debit

Credit

Purchases 14,000
Accounts Payable
(Purchase inventory on accouynt

August 7

Freight-In 400
Cash
(Pay freightin cos)

August 10

Accounts Payable

Purchase Returns

(Return inventory on accoynt
August 14

Accounts Payable
Purchase Discounts
Cash
(Pay cash on account witl% discouny
($128= $12,800 x 1%)

August 23

Accounts Receivable

SalesRevenue
(Sdl inventory on accouit

1,200

12,800

11,000

Requirement 2

August 31 Debit

14,000

400

1,200

128
12,672

11,000

Credit

Inventory (ending)
Cost of Goods Sold
Purchase Returns
Purchase Discounts
Purchases
Freight-In
(Record perioeend adjustmeint

10,212.50
1,200.00
12800

Note: Beginning inventory was zero; no
entry required

2,859.50

14,000
400
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Chapter 6 Inventory and Cost of Goods Sold

Exercise 620 (Lo 69)

Requirement 1

When goods are shipped FOB shipping point, title tranéfens the seller to the

buyer at the time of shipment. This means that Mulligan Corporation (buyer) receives
title to the inventory when it is shipped on December2B21 By not includingthis
inventory in its2021ending inventory counthe company hawade an error.

Requirement 2

Balance Sheet Income Statement

Stockh Cost of Gross

Year Assets Liabilities  Equity RevenuesGoods Soli  Profit
Current U N U N @) U
Following N N N N U O
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Chapter 6 Inventory and Cost of Goods Sold

Exercise 621
Requirement 1

January 3 Debit Credit
Inventory 126,000
Accounts Payable 126,000
(Purchase inventory on account)
January 8 Debit Credit
Inventory 143,000
Accounts Payable 143,000
(Purchase inventory on account)
January 12 Debit Credit
Inventory 161,000
Accounts Payable 161,000
(Purchase inventory on account)
January 15 Debit Credit
Accounts Payable 11,500
Inventory 11,500
(Return defective inventory
($11,500 = $11%100 units)
January 19 Debit Credit
Accounts Receivable 600,000
Sales Rgenue 600,000
(Sell inventory on account
Cost of Goods Sold 437,000
Inventory 437,000
(Record cost of inventory sgld
($437,000 = [$108300 units]+[$10% 1,200
units]+ [$11(< 1,300 units]+[$11% 1,200
units])
January 22 Debit Credit
Cash 580,000
Accounts Receivable 580,000
(Receive cash on accojint
January 24 Debit Credit
Accounts Payable 410,000
Cash 410,000

(Pay cash on account
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Chapter 6 Inventory and Cost of Goods Sold

Exercise 621 (continued)
Requirement 1(concluded)

January 27 Debit Credit
Allowance for Uncollectible Accounts 2,500
Accounts Receivable 2,500
(Write off uncollectible accounjts
January 31 Debit Credit
Salaries Expense 128,000
Cash 128,000

(Pay salaries for the current peripd

Requirement 2

(a) January 31 Debit  Credt
Cost of Goods Sold 1,500
Inventory 1,500
(Adjust inventory fonet realizable value
($1,500 = ($1151%$100
(b) January 31 Debit Credit
Bad Debt Expense 3,000
Allowance for Uncollectible 3,000
Accounts

(Adjust uncollectible accounts)
$3,000 = ($4,000%x40%)+($50,06D 4 %) T % €

2$50,000 =
$36,500+%$6007] &Q 01 55H4H, 800C
$600 = $3,10071%$2,500
(c) January 31 Debit  Credit
Interest Expense 200
Interest Payable 200

(Adjust interest expenge
($200 = $30,000 x 8% x 1/12)

(d) January 31 Debit  Credit
Income Tax Expense 12,300
Income Tax Payable 12,3

(Adjust income taxes
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Chapter 6 Inventory and Cost of Goods Sold

Exercise 621 (continued)
Requirement 3

Big Blast Fireworks
Adjusted Trial Balance
January 31,2021

Accounts Debit Credit
Cash $ 63,900
Accounts Receivable 54,000
Inventory 10,000
Land 61,600
Allowancefor Uncollectble $ 3,600
Accounts
Accounts Payable 40,900
Interest Payable 200
Income Tax Payable 12,300
Notes Payable 30,000
Common Stock 56,000
Retained Earnings 28,500
Sales Revenue 600,000
Cost of Goods Sold 438,500
Salaries Epense 128,000
Bad Debt Expense 3,000
Interest Expense 200
Income Tax Expense 12,300

Totals $771,500 $771,500
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Chapter 6 Inventory and Cost of Goods Sold

Exercise 621 (continued)
Requirement 3 concluded

Accounts Ending Beginning balance ibold, entries during January Iriue,
Balance and adjusting entries ired

Cash $ 63900 = 21906580, 0001410, 0001128, 0
Accounts Receivable 54,000 = 36,5006 00, 000TX5800, 000T

Inventory 10,000 = 30,0006-r126,006-143,006-161,000 437,000 11,50G 1,500
Land 61,600 = 61,600

Allow for Uncoll Accts 3,600 = 3,100 2,500+3,000

Accounts Payable 40,900 = 32400+126,006-143,006-161,000 410,000 11,500
Interest Payable 200 = 200

Income Tax Payable 12,300 = 12,300

Notes Payable 30,000 = 30,000

Common Stock 56,000 = 56,000

Retained Earnings 28,500 = 28,500

Sales Revenue 600,000 = 600,000

Cost of Goods Sold 438,500 = 437,0004,500

Salaries Expense 128,000 = 128,000

Bad Debt Expense 3,000 = 3,000

Interest Expense 200 = 200

Income Tax Expense 12,300 = 12,300
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Chapter 6 Inventory and Cost of Goods Sold

Exercise 621 (continued)
Requirement 4
Big Blast Fireworks
Multiple -Step Income Statement
For the year ended January 312021

Sales revenue $600,000

Cost of goods sold 438,500
Gross profit $161,500

Salaries expense 128,000

Bad debt expense 3,000

Total operating expense: 131,000
Operating income 30,500

Interest expense 200
Income before taxes 30,300

Income tax expense 12,300
Net income $ 18,000

Requirement 5
Big Blast Fireworks
Classified Balance Sheet
January 31,2021

Assets Liabilities
Cash $ 63,90( Accounts payable $ 40,900
Accounts receivabl 54,000 Interest payable 200
Less: Allowance (3,600) 50,40C Income tax payable 12,300
Inventory 10,00( Total current liabilities 53,400
Total current assets 124,30( Notes payable 30,000
Total liabilities 83,400
Land 61,60 St oc k h &duidye

Common stock 56,000

Retained earnings 46,500 *

Tot al st oc 102,500
Total liabilities and

Total assets $185,90! stockhol d $185,900
* Retained earnings = Beginning retaine
=$28500 + $18,0001 $ O
= $46,500
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Chapter 6 Inventory and Cost of Goods Sold

Exercise 621 (continued
Requirement 6

January 312021 Debit Credit

Sales Revenue 600,000
Retained Earnings 600,000
(Close revenue accounts

Retained Earnings 582,000
Cost of Goods Sold 438,500
Salaries Expense 128,000
Bad Debt Expense 3,000
Interest Expense 200
Income Tax Expense 12,300

(Close expense accouhts
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Chapter 6 Inventory and Cost of Goods Sold

Exercise 621 (concluded)
Requirement 7
(a) The inventory turnover ratio is:

Inventory Cost of Goods$old $438,500

ngﬁger = Average Inventory ~  ($30,000 + $10,0002 = 219

A ratio of 21.9 suggests that the average inventory balance is sold 21.9 times over tr
period. Typically, a higher ratio is good. Therefore, Big Blast Fireworks appears to be
managingts inventorymore efficiently than the average company in the same
industry.

(b) The gross profit ratio is:

Gross Profit _ (Sales 1 Cos _($600,000 — 26.9%
Ratio Sales $600,000
A ratio of 26.9% suggests that for ey&1 of sales, the company spends just over
$0. 73 on inventory ($1.00 1T $0.269), 1
industry average gross profit ratio, however, is higher at 33%, so Big Blast Fireworks
Is lessprofitable per dollar of salédkan the average company in the same industry.

(c) Based on the inventory turnover ratio and the gross profit ratio, Big Blast
Firewor ksd busi ness shigha voemeywf lespegpersives |
items. In general, lower priced itemdl srore frequently.

©2019 McGrawHill Education. All rights reserved. Authiaed only for instructor use in the classroom. No reproduction or further
distribution permitted without the prior written consent of McGiidill Education
Solutions Manual, Chapter 6 6-49




Chapter 6 Inventory and Cost of Goods Sold

PROBLEMS: SET A
Problem 6-1A (Lo 6-3)

Requirement 1 Specific identification
Numbel  Unit Ending

Date Transaction of units  cost Inventory
Oct. 1  Beginninginventory 1 $900 $ 900
Oct. 30 Purchase 7 930 6,510

8 $7,410
Numbel  Unit Cost of

Date Transaction of units cost  Goods Solc
Oct. 1  Beginninginventory 42 $900 $ 3600
Oct. 1  Beginninginventory 1° 900 900
Oct. 10 Purchase 20 910 1,820
Oct. 10 Purchase 3¢ 910 2,730
Oct. 20 Purchase 4° 920 3,680

14 $12,730

2 From the October 4 saléFrom the October 13 saleFrom the October 28 sale

Requirement 2 FIFO
Numbel  Unit Ending

Date Transaction of units  cost Inventory
Oct. 20 Purchase 1 $920 $ 920
Oct. 30 Purchase 7 930 6,510

8 $7,430
Numbel  Unit Cost of

Date Transaction of units cost  Goods Solc
Oct. 1  Beginninginventory 6 $900 $ 5,400
Oct. 10 Purchase 5 910 4,550
Oct. 20 Purchase 3 920 2,760

142 $12,710

2First 14 unitspurchased arassumedold
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Chapter 6 Inventory and Cost of Goods Sold

Problem 61A (concluded)

Requirement 3 LIFO
Numbel  Unit Ending

Date Transaction of units  Cost Inventory
Oct. 1  Beginninginventory 6 $900 $5,400
Oct. 10 Purchase 2 910 1,820

8 $7,220
Numbel  Unit Cost of

Date Transaction of units Cost  Goods Solc
Oct. 10 Purchase 3 $910 $ 2,730
Oct. 20 Purchase 4 920 3,680
Oct. 30 Purchase 7 930 6,510

142 $12,920

2L ast14 unitspurchased arassumed sold

Requirement 4 Weighted average
Numbel Unit Total
Date Transaction of units cost Cost

Oct. 1  Beginninginventory 6 $900 $ 5,400
Oct. 10 Purchase 5 910 4550
Oct. 20 Purchase 4 920 3,680
Oct. 30 Purchase 7 930 6,510

22 $20,140

Weightedaveragecost = £0,140/ 22 units = $15.45 (rounded)
Ending inventory = 8 units x $915.45=$7,323.®

Cost of goods sold 14 unitsx $915.45= $12,816.30
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Chapter 6 Inventory and Cost of Goods Sold

Problem 6-2A o 63, 64, 65)

Requirement 1 Specific identification
Numbel  Unit Ending

Date Transaction of units  cost Inventory
Mar. 1 Beginninginventory 1 $250 $ 50
Mar. 9 Purchase 2 270 540
Mar. 22 Purchase 2 280 560
Mar. 30 Purchase 9 300 2,700

14 $4,050
Numbel  Unit Cost of

Date Transaction of units cost  Goods Solc
Mar. 1  Beginninginventory 150 $250 $3,750
Mar.9 Purclase 8° 270 2,160
Mar. 1 Beginninginventory 4° 250 1,000
Mar. 22 Purchase 8° 280 2,240

35 $9,150

2 From theMarch5 sale ® From theMarch 17sale € From theMarch 27 sale

Requirement 2 FIFO
Numbel  Unit Ending

Date Transaction of units  cost Inventory
Mar. 22 Purchase 5 $280 $1400
Mar. 30 Purchase 9 300 2,700

14 $4,100
Numbel  Unit Cost of

Date Transaction of units cost  Goods Solc
Mar. 1 Beginninginventory 20 $250 $5,000
Mar. 9 Purchase 10 270 2,700
Mar. 22 Purchase 5 280 1,400

35 $9,100

2First 35 unitspurchased arassumed sold
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Chapter 6 Inventory and Cost of Goods Sold

Problem 62A (continued)
Requirement 3 LIFO

Numbel  Unit Ending
Date Transaction of units  cost Inventory
Mar. 1  Beginninginventory 14 $250 $3,500
Numbel  Unit Cost of
Date Transaction of units cost  Goods Solc
Mar. 1 Beginninginventory 6 $250 $1500
Mar. 9 Purchase 10 270 2,700
Mar. 22 Purchase 10 280 2,800
Mar. 30 Purchase 9 300 2,700
35 $9,700
aLast35 unitspurchased arassuned sold
Requirement 4 Weighted average
Numbel  Unit Total
Date Transaction of units cost Cost
Mar. 1 Beginninginventory 20 $250 $ 5,000
Mar. 9 Purchase 10 270 2,700
Mar. 22 Purchase 10 280 2,800
Mar. 30 Purchase 9 300 2,700
49 $13,200

Weightedaveragecost = $B,200 / 8 units = $59.3878 (rounded)

Ending inventory = 14 units x $269.3878 = $3,771.8

Cost of goods sold 35 unitsx $269.3878 = $9,42857

©2019 McGrawHill Education. All rights reserved. Authiaed only for instructor use in the classroom. No reproduction or further
distribution permitted without the prior written consent of McGH#dill Education

Solutions Manual, Chapter 6

6-53



Chapter 6 Inventory and Cost of Goods Sold

Problem 62A (concluded)
Requirement 5

Weighted-
Specific average

Identification FIFO LIFO Cost
Sales revenue $15,300 $15,300 $15,300  $15,300.00
Cost of goods sold 9,150 9,100 9,700 9,42857
Gross profit $ 6,150 $ 6,200 $ 5600 $ 587143

Requirement 6

FIFO provides the more meaningful measure of ending inventoryarfibent of
ending inventory reported using FIFO4$00 compared to LIFO &500) better
approximates the current cost of inventory at the end of the peB60 §®r unitx 14
units = $1,200).

Requirement 7

March 31 Debit Credit
Cost of Goods Sold 600
Inventory 600

(Record the LIFO adjustment

* The LIFO adjustment equals the difference in inventory reported using FIFO
($4,100) versus using LIFO &500). The LIFO adjustment equais00.
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Chapter 6 Inventory and Cost of Goods Sold

Problem 6-3A (Lo 62, 65)

Requirement 1

July 3 Debit Credit

Inventory 2,300
Accounts Payable 2,300
(Purchase inventory on accougnt

July 4

Inventory 110
Cash 110
(Pay freightin)

July 9

Accounts Payable 200
Inventory 200
(Return inventory on account

July 11

Accounts Payable 2,100
Inventory 21
Cash 2,079

(Pay on account lesEo discouny
($21 = $2,100 % 1%)
July 12

Accounts Receivable 5,800
SalesRevenue 5,800
(Sell inventory on accout

Cost of Goods Sold 3,000
Inventory 3,000
(Record ost of inventory sold

July 15

Cash 5,800
Accounts Receivable 5,800
(Receive cash on accojint
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Chapter 6 Inventory and Cost of Goods Sold

Problem 63A (concluded)

Requirement 1(continued)
July 18 Debit Credit

Inventory 3,100
Accounts Payable 3,100
(Purchase inventory on accouynt

July 22

Cash 4,200
SalesRevenue 4200
(Sell inventory for cash

Cost of Goods Sold 2,500
Inventory 2,500
(Record ost of inventory sold

July 28

Accounts Payable 300
Inventory 300
(Return inventory on accoynt

July 30

Accounts Payable 2,800
Cash 2,800
(Pay cash on account

Requirement 2

CD City
Multiple -step Income Statement (partial)
For the month of July

Net sales $10,000
Cost of goods sold 5,500
Gross profit $ 4,500
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Chapter 6 Inventory and Cost of Goods Sold

Problem 6-4A (Lo 66)

Requirement 1

Inventory Unit Total
items Quantity Cost Cost
Vans 4 $27,000 $108000
Trucks 7 18,000 126,000
2-doorsedans 3 13,000 39,000
4-doorsedans 5 17,000 85,000
Sportscars 1 37,000 37,000
SUVs 6 30,000 180,000
$575,000
Requirement2
Lower of
Cost and
Inventory Unit Unit NRV
items Quantity Cost NRV per unit Total
Vans 4 $27,000 $25,000 $25,000 $100000
Trucks 7 18,000 17,000 17,000 119,000
2-doorsedans 3 13,000 15,000 13,000 39,000
4-doorsedans 5 17,000 20,000 17,000 85,000
Sportscars 1 37,000 40,000 37,000 37,000
SUVs 6 30,000 28,000 28,000 168,000
Total $548,000

Requirement 3
Because the total of lower of castd net realizable valy8548000) is less than total
cost ($55,000), inventory is written down for the differen@27,000)

Debit Credt

Cost of Goods Sold 27,000
Inventory 27,000
(Write down inventory toet realizablevalug

Requirement4
The writedown of inventory from cost toet realizablevalue reduces total assets and
increases total expenses, leading to lower net incowhéoaver retained earnings.
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